


T HES hm? 0.30 0 0
A # i BEEN hm? / 0 0
I et e A 4 m 260 250 250
Ik et e A 4 m / 180 180
Ik et 4 7 Il B3 9 JE 1 1 1
HEAE = m? 2000 0 0
AW ESE m? / 6200 6200
k13 H 7 m? 0.12 0 0
3 T A 4 *+EE 7 m’ 0.12 0 0
P +HES hm? 0.20 0 0
X A HHEER hm? 0.20 0 0
- MEAER m? 800 0 0
NG m? / 0 0
kL# B F m? 0.15 0 0.047
TR k1 EE 7 m? 0.15 0 0.047
Wi T HES hm? 0.50 0 0.62
3 I B HEAK A m 540 0 360
TEw ik m? 3000 0 1200
X ——— AW ESE m? / 0 1600
PR ILIE JE 6 0 6
WAK L EHIE m’ 156 0 0
AR B m? / 0 360
e IR +HES m? 0.68 0 0.68
W | AR m? / 0 1600
AR m? / 0 300
PR B E (mm) 95.5
e &K 24 /MEFEF (mm) 10.2
A RE (m/s) 2.8
+HEREE (D 7.03
KEFKAEEES %
Yot LS AW R B - Pk L RFE R, R
B LK B iR R,






